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Exam. Code : 103204
Subject Code: 1095

B.A./B.Sc. 4™ Semester (Batch 2021-24)
ECONOMICS

(International Economics and Public Finance)

Time Allowed—3 Hours] [Maximum Marks—100

Note :—Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question

may be attempted from any section. All questions

carry equal marks.
SECTION—A

1. Explain in detail the comparative cost theory of

International trade. What are its limitations ?

2. Explain in detail the various concepts of terms of
trade. Also, state their limitations.

SECTION—B

3. State the various components of balance of payments
by using an illustration.

4. Explain in detail the devaluation approach for the

correction of deficit in the balance of payments.
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SECTION—C
5. Explain the nature, scope and relevance of
finance for a student of economics.

plain its effect on the

study of public

6. Define public expenditure. Also ¢X
system of production in an economy-

SECTION—D
7. State the types and concepts of taxes. Also, explain the
canons of taxation in detail.

8.  What do you understand by tax shifting ? Explain in detail
any theory of tax shifting.

(Punjabi Version)
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Exam. Code : 103204
Subject Code : = 1080

B.A./B.Sc. 4" Semester (Batch 2021-24)
ENGLISH (Compulsory)
Paper - ENC-251

Time Allowed—3 Hours] [Maximum Marks—50

Note :— Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question
may be attempted from any section. All questions

carry equal marks.
SECTION—A

Do as directed.

1.  Put the verb into the correct form, present simple or past
simple, active or passive.
(i) The company is not independent. It (own)

by a much larger company.

(11) It’s a big factory. Five hundred people
(employ) there.
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Complete the sentences using being + the given verb in the
correct form.

(i) Tamanadult. Idon’tlike a child. (treat)

(iv) We went to the party without (invite)

Read the situations and complete the sentences using where.

(v) Youwork in a factory. The factory is going to close
down next month. Youtell a friend.

The is going to close down next month.

(vi) You play football ina park on Sundays. You show a
friend the park. You say :

This is the on Sundays.

Put in that or what where necessary.

(vii) Why do you blame me for everything goes

wrong ?

(vili) I won’t be able to do much, but I will do |

can.

Make one sentence from two. Use who/that/which.

(ix) A building was destroyed in the fire. It has now been

rebuilt.
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(X) Some people were arrested. They have now been
released. | 1x10

Putin mustorcan’t:

(i) That restaurant be very good. It is always

empty.

() Thatrestaurant be very good. It is always full
of people.

Read the situation and make sentences from the words in

brackets. Use might.
(i) Ican’t find my umbrella. Have you seen it ?

(it/be/in the car)

(iv) Why didn’t John answer the door bell ? [ am sure he
was at home at that time. (he/go/to the bed early)

Use the words in brackets to complete these sentences. Use
if should

(v) Wehave no jobs at present. (the situation/chan ge)
If , we will contact you.
(vi) Ithink everything will be ok. (there/be/any problems)

If , I am sure we will be able to solve them.
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Which 1s correct ?

(vii) Tdon’tmind if you come home late unless/as long as

you come in quietly.
(vil) I am going now unless/provided you want me to stay.
Use your own ideas to complete these sentences.
(ix) It started to rain during
(x) Whatareyougoingtodowhile -~ . 110
SECTION—B

Why do the swans fill the poet’s heart with sadness in the
poem ‘The Wild Swans At Lake Coole’? 10

What is the central Idea of *Ah, Are You Digging On My

Grave’ ? | 10
SECTION—C
Write the words which are similar in meaning to the following.
(i) clearand firm
| (i) aformal international agreement

(iii) the natural features of land
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(iv) happening repeatedly but not necessarily frequently

(v) incomplete agreement

(vi) the protection of natural resources
(vil) the state of no longer existing

(viit) chemicals used to kill insects

(iX) toreach adecision after careful thought
(X) toreturnto an earlier and better condition. 1x10

6. Complete the sentences with words given below. These

words replace the words in parentheses, which are similar in

meaning.

abandon, adversely, contention, induce, substantial,

accumulation, attributable, curb, pose, undeniable.

@ The question of which nations should cut their

greenhouse gas emissions remains a matter of

(disagreement) 'y

() Most scientists believe that it is still possible to (limit)
the effects of deforestation if we improve our

management of the world’s forests.
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(iif) There is (unquestionable) evidence that polar

ice caps are beginning to shrink.

(iv)  Some politicians argue that developing countries should

share responsibility for the (build up) of
greenhouse gases.
(v) Rising sea levels (present) a threat to

inhabitants of coastal areas.

(vi) During the hurricane, many people had to (leave)

their homes.

(vii) The company put their refrigerators on sale in order to.

(persuade) customers to buy them.

(vii) The heat wave (badly) affected all the farms
in the area.

(ix) Itcostsa/an(considerable) amount of money

to buy a car that has a gas electric engine.

(x) Many people believe that the recent warm winters in
North America are (caused by) to global

warming, _ 1x10
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SECTION—D
7. Whendoes Language Learning Begin ?

8. Whatare the advantages of Multilingualism ?
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Exam. Code : 103204
Subject Code : 1106

B.A./B.Sc. 4" Semester (Batch 2021-24)
MATHEMATICS
(Solid Geometry)

Paper—II

Time Allowed—3 Hours] [Maximum Marks—50

Note :—Attempt FIVE questions in all, selecting at least

ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A

Find the equation of the right circular cylinder

of radius 2 whose axis is the line
X —1] z—3

— —2:
2 7 2

A cylinder cuts the plane z = 0 in the curve

5

2

x2+—y£—1—=z, and has its axis parallel to

3x = —6z. Find its equation. 5

Obtain the equation of right circular cylinder
described on the circle through the points
(1, 0, 0), (0, 1, 0), (0, 0, 1) as the guiding
circle. | 5
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(b)

1. (a)
(b)
IV. (a)
(b)

Find the equation of elliptic cylinder whose
generator is parallel to the z-axis and which

2 2

intersects the ellipse 3{3 + %2-‘ =1,z=0. 5
a

SECTION—B

X z .
The plane — + % + = =1 meets the co-ordinate
a C

axes in A, B, C. Prove that the equation to the
cone generated by the line drawn from O to meet
the circle ABC is

[b c) [ca] (a b]
yz| —+ = |+ zx| =+ —|+xy| —=+—|=0. 5
c b a ¢ b a

Find the value of A if the plane Ax +y +z =0
cuts the cone xy + yz + zx = 0 in perpendicular

lines. 5

Show that X2 —y> + 22— 2x +4y + 62+ 6 =0
represents a right circular cone whose vertex is
the point (1, 2, —3) whose axis is parallel to OY
and whose semi-vertical angle 1s 45°. 5

Find the equation of the plane which touches the
cone x2 + 2y? — 32> — 2yz + 5zx + 3xy = 0 along
the generators whose direction numbers are
<1, 1, ~1> 5
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SECTION—C
V. Prove that :

5x* = 16y* + 522 + 8yz - 14zx + 8xy + 4y 4 20y +4z-24 =0
represents hyperbolic paraboloid.

10
VL. (a) Write down the equation of the surface of revolution

obtained by rotating the curve Y+ 922 =36, x = ()
. about the z-axis.

5
Find the locus of the chords of the conicoid
ax’ + by? + ¢z2 =

points (x‘, ¥is Z.).

(b)

1 which are bisected at the

5
SECTION—D

VIL. (a) Find the locus of points from which three mutually
perpendicular tangent lines can be drawn to the
conicoid ax? + by? + ¢z2 = 1.

5

(b) The normal at any point P of the ellipsoid
2 2 2 '

s —yl-; + e =1 meets the principal planes in

R
G, G, G,. Show that PG : PG. - PG, =d : bt

5
VIIIL. Prove that the normals from (a, B, ) to paraboloid
2 2
12— - 12— =2z lie on the cone
a b
2 - 1.2
VO TR sl 10
X-o y-B z-y
3161(2523)/1G-26866 3
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Exam. Code : 103204
Subject Code : 1105

B.A./B.Sc. 4" Semester (Batch 2021-24)

| MATHEMATICS
(Statics & Vector Calculus)
Paper—I
Time Allowed—3 Hours] - [Maximum Marks—50

Note :—Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A |

1. (a) P is the point in the plane of AABC and I is
incentre. Show that the resultant of the force

represented by PA sin A, PB sin B, PC sin C, is
PI 4 c()s—A— c:osE cosg.
| 2 2 2
(b) State and prove converse of Lami’s theorem.

2. (a) The resultant of two parallel forces P and Q
passes through the point C. When P is increased
by R and Q by S, the resultant still passes through
C and also when Q, R replace P, Q respectively.

_ —~ R)?
Show that S=R—-(—%T(—2)—.
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(b) Three parallel forces of magnitudes L, M, ’ a
at vertices P, Q, R respectively of APQR. Prove

that their centre is centroid of A if L=M =N.
SECTION—B

3. (a) A uniform ladder of length / rest on rough horizontal
ground with its upper end projecting sli ghtly over
a smooth horizontal rail at height o. If the ladder
is about to slip and A is angle of friction with the

a+f - a’
ground, show that A = tan™ .

2

? + o

(b) Find the centre of gravity of a lamina in form

of a sector of circle subtending angle 2\ at the
centre.

4. (a) One side of rectangle is twice of other and on
longer side an equilateral triangle is described.

Find the centre of gravity of the lamina formed by
rectangle and the triangle.

(b) A uniform solid consists of a cone of semi vertical

T
angle 1 cemented on hemisphere on the same

base. Show that centre of gravity of the body

divides the central axis in the ratio 7 : 5,
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SECTION—C
5. .(a) Define solenoidal and irrotational vectors. Show
that vector field given by

F=(z2"+2x + 3y)i + (3x + 2y + z)]+(y + 27x)k

1s irrotational but not solenoidal.
(b) IfF= (3x* +6y)§ - l4yzj + 20x2%k then evaluate
| jc F.df from (0, 0, 0) to (1, 1, 1) along the path

X=ty=t3 z=12,

6. (a) IfF=(2x*- 32)i — 2xyj - 4xk , evaluate HLVx F.dv

where V is the region bounded by the coordinate
planes and plane 2x + 2y + z =4

(b) Ifﬁ=sin9§+cos@]+9]&, Bzcos@i—sin@j-—ﬂﬂ(

and € =2{ + 3}~ 3k. Find -
d o .= T
—@x(bxc)}at g1
de{ ( )}a‘Q. 5
SECTION—D

7. (a) State and prove Gauss divergence‘theorem.

(b) Verify Green’s theorem in the plane for
fLOX* — xy*)dx + (y* - 2xy)dy]
C

where C is the square bonded by x =0,y =0,
X=2,y= 2z
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8. (a) If F=(y,z x) and S is the upper half surface of
the sphere x? + y2 + z2 = | and C is boundary,

show thatl § F.dr = ” curl F, nidS.
C S

(b) Show that §7.d7 = 0.
C

/1G-26865 |
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Exam. Code :
Subject Code :

B.A./B.Sc. 4" Semester (Batch 2021-24)
QUANTITATIVE TECHNIQUES
(Quantitative Techniques-1V)

Time Allowed—3 Hours] [Maximum Marks—100
Note :— Attempt FIVE questions in all, selecting at least

ONE question from each section. The fifth question

may be attempted from any section. All questions

carry equal marks.
SECTION—A

1. (a) Discussthe procedure to fit modified exponential curve.

(b) What to you mean by partial correlation coefficient ?
Determine partial correlation coefficientr,, , and multiple
correlation coefficient R, . from the following data :

r,=0.5;1,=0.7;r,=0.6. 10+10=20

2523
2.  Forthe following data, fit multiple linear regression equation
of X onX, and X, :

; 3 5 8 12 14
X, | 16 10 7 4 3 2
, | 90 72 | 54 | 42 30 12
20
SECTION—B
3. (a) Stateand prove Bayes'theorem of probability.
3150(2523)/1G-26861 1 (Contd.)




